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QUESTION 1

Given the following fragment of code, how many tests are required for 100% decision coverage? 

if width > length then biggest_dimension = width if height > width then biggest_dimension = height end_if else
biggest_dimension = length if height > length then biggest_dimension = height end_if end_if 

A. 3 

B. 4 

C. 2 

D. 1 

Correct Answer: B 

 

QUESTION 2

What is the MAIN benefit of designing tests early in the life cycle? 

A. It is cheaper than designing tests during the test phases. 

B. It helps prevent defects from being introduced into the code. 

C. Tests designed early are more effective than tests designed later. 

D. It saves time during the testing phases when testers are busy. 

Correct Answer: B 

 

QUESTION 3

What is the MAIN objective when reviewing a software deliverable? 

A. To identify potential application failures by use of a test specification. 

B. To identify defects in any software work product. 

C. To identify spelling mistakes in a requirements specification. 

D. To identify standards inconsistencies in the code. 

Correct Answer: B 

 

QUESTION 4

Which of the following is correct? 
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A. Impact analysis assesses the effect on the system of a defect found in regression testing. 

B. Impact analysis assesses the effect of a new person joining the regression test team. 

C. Impact analysis assesses whether or not a defect found in regression testing has been fixed correctly. 

D. Impact analysis assesses the effect of a change to the system to determine how much regression testing to do. 

Correct Answer: D 

 

QUESTION 5

A thermometer measures temperature in whole degrees only. If the temperature falls below 18 degrees, the heating is
switched off. It is switched on again when the temperature reaches 21 degrees. What are the best values in degrees to
cover all equivalence partitions? 

A. 15, 19 and 25. 

B. 17, 18, and 19. 

C. 18, 20 and 22. 

D. 16, 26, and 32. 

Correct Answer: A 
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